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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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(1) Define the following with example

(1) Based load power plant (i1) Central power plant (iii) Captive power plant

(2) Explain the procedure of stopping of steam turbine

(1) Explain the importance of following Terms in analysis of power plant cycle
(1) Thermal Efficiency (ii) Work Ratio (iii) Mean effective Pressure
(iv) Specific Steam consumption

(2) Carnot vapour cycle works between 15 bar and 1.1 bar pressure. If vapour is
dry and saturated at higher pressure, find Carnot cycle efficiency

(1) State the advantages of pulverized fuel. Name the different types of coal
pulverizing mills and explain ball mill in brief

(2) Draw the neat sketch of La mont boiler and name the each part

(1) Find out the vaccum efficiency of condenser from following data
Vacuum at condenser steam inlet :700 mm of Hg.
Barometric reading : 760 mm of Hg, Condensate temperature : 30 C°
(2) Explain feed water control system.
OR
(1) What is condenser ? Explain surface condenser in brief.
(2) Define sensitivity and stability.
(1) show the effect of turbine load variation on following parameter
(1) Turbine shaft speed (ii) Steam pressure (iii) Steam flow rate
(2) Draw the electrical system of diesel power plant and explain the work of
generator and transformer
(1) Explain with neat sketch lubrication system of Diesel power plant
(2) State the use of gas turbine power plant.
OR
Explain the working of diesel engine power plant with neat sketch.
Answer the following
(1) Function of basic elements of control system
(i1) Construction and working of combustion chamber in gas power plant.

(1) Name the different method to improve the performance of gas turbine
power plant and explain any one with flow,P-V and T-S diagram.

(2) Define (i)Mass Number (ii) Binding energy (iii) Isotopes.

(1) State the difference between Fusion and Fission reaction.

(2) What is plant economics ? Explain “fixed cost” and “operating cost” of
power plant
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OR
Q.4 (a) Explainthe construction and working of CANDU reactor with neat sketch. 07
(b) Answer the following. 07
(1) Name the different fuel used in gas turbine power plant.
(2) Explain in brief elements of power cost

Q.5 (a) Draw the sketch of Nuclear reactor with basic elements state the function of each parts 07

(b) (1) Draw the neat sketch of hydropower plant and show the different elements. 05
Explain the importance of surge tank.
(2) Define : (i) Reheat factor (ii) Engine efficiency 02
OR
Q.5 (a) Write effect of Radiation on human, animal and environment. 07
(b) Explain construction and working of Pelton wheel turbine. 07
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